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1. HERIZEN:
D HAREA:
0.1g #AR (KDFERAHEAREINE 02g &£4) , i ImL AIFEKGEBHRE D RFE, HIZR
£EREEFEE| EP B, 12000rpm, FIREL 10min, EERFN,
Q) KA BERRERERTERERN,
(3 WE/IE I
FWEMFNAREEOCERN, BOBEFLE, BU500 FHENMEINN ImL &I /K Ew8%
R MK, KADR(JFEREEXERBINTEKES), 12,000rpm 4°C il 10min, B EEFN .
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B, 37°CHEE 5min f§, F 340nm AMEEEEWRILE Al
wH= [ 10 | 10 | 10
S24), 37°CIEE 10min 5, F 340nm AMFEEE S WLE A2, AA=A2-Al,

UE] FAA BT 001, THEMNAFABRKEE VI (QIEE sopL, NWRHF ZMREED, SHRAE) |, WHEEH
VI ERANAREHITE.
B ERHE:
. RRARREITE:
B T B (mmol/g EE)=(C #RAEXV #R)x(AA UE-AA ZEH)+(AA FRE-AA EH)H(WXVI+V)
=20<(AA WE-AA = H)(AA FRE-AA ZH)W
2, RREAREITE:
B-# T B (mmol/mg prot)=(C #RAEXV #R)x(AA ME-AA Z=H)+(AA FRE-AA EH)+(Cpr<V1+V)
=20(AA WE-AA = H)+(AA FRAE-AA = H)+Cpr
3. BRERITHE:
B-32 T ER(mmol/L)=(C #rAEXV $R)x(AA WTE-AA ZE)+(AA FRAE-AA =EH)VI
=20(AA UE-AA = H)+(AA FRAE-AA =H)
4. REE/AREEITE:
B-#2 T BR(mmol/10* cell)=(C FRAEXV #7)x(AA JUTE-AA = H)+(AA FRAE-AA ZH)+(CprxV1+V)
=20%(AA ME-AA = B)+(AA FRAE-AA = H)+Cpr

CtpfE-—-Fr@miRE, 20mmol/L; V {5t mBUEAFR, 0.04mL;
V1---BUEEAFR, 0.04mL; V---IIARBURAFR, ImL;
W---#£AKEE, g; 500---AE AR5, A,

Cpr—-HAZEBRNE, mgml;, BIERARATH BCA ERAERNHANE
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